Economics 101

Fall 2006

Answers to Homework #3

1. With the information provided in the question, you can build the following table:

	Country
	Nominal Wage
	CPI
	Real Wage=               Nominal Wage/CPI*100

	Japan
	10
	100
	10

	South Korea
	6
	50
	12


a.  False, since the real wage was higher in South Korea than in Japan. To see this you can calculate the real wage by dividing the nominal wage by the CPI and then multiplying by a scale variable: for Japan the real wage equals (10/100)*100 or 10. In South Korea the real wage equals (6/50)*100 or 12. The real wage is thus higher in South Korea than in Japan.

b.  True.  See the answer in part (a).

c.  False. See the answer in part (a).

d.  False, since the problem stated that the nominal wage was higher in Japan.  

a.   
	Pieces of Pizza
	Marginal Utility
	Total Utility

	0
	0
	0

	1
	20
	20

	2
	15
	35

	3
	10
	45

	4
	5
	50

	5
	-5
	45

	6
	-10
	35


b. He will consume 4 pieces of pizza because that quantity maximizes his utility.   

3.

a. From the graph, you can see that indifference curve B represents the highest level of utility.

b. His total income is $12, and he can spend it on bread ($1 a loaf) and soda ($1 a can).  Then, 12=S+B.  Writing this in slope-intercept form, S=12-B.

c. He will choose B=2 and S=10.  At this point, the marginal rate of substitution equals the ratio of the prices of the 2 goods.  So, MRS=1/1=1.

(i) The equation of the new budget line is 12=3B+S.  In slope-intercept form, it is S=12-3B.

(ii) B=2, S=6

(iii) He is consuming the same amount of bread and 4 less cans of soda.

(iv) The income effect would cause him to buy less soda, since the higher price of bread effectively reduces his income.  On the other hand, the substitution effect causes him to buy more soda.  However, at this point, only his consumption of soda changed after the increase in the price of bread.  In this case, the substitution effect played no role in his decision.  You can see this by drawing a line parallel to the old budget constraint through the new optimal consumption bundle.  This line is tangent to the indifference curve at the point B=2, S=6.
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4.  Let I = Income, Pt = Price of T-Shirts, P = Price of hats, Q = Quantity demanded of hats. You can build the following table:

	
	I
	Pt
	P
	Q

	Figure (a)
	320
	80
	40
	4

	Figure (b)
	320
	80
	80
	3

	Figure (c)
	320
	80
	160
	1


Use the second and third columns, “P” and “Q”, respectively, and draw the demand curve. You will see that this is a linear demand curve P = -40Q + 200.










